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QUESTION 1

Which of the following privileges allow a user to update the comment on a sequence?
A. ALTER

B. USAGE

C. UPDATE

D. COMMENT

Correct Answer: A

QUESTION 2

An SQL function named DEPT_INFO was created as follows:

CREA™E FUNCTION defgt_infof)
FETUREMS TABLE (dept_id INTEGER,
dept_name YARCHAR(Z0Y)
LANGUAGE SCIL
READS SCIL DATA
BEGHM ATOMIC
RETURN
SELECT deptno, deptname
FROM department
WHERE deptname LIKE '5%",
EnD

What is the correct way to use this function in a query?

A. SELECT dept_info(dept_id, dept_name)

B. SELECT dept_id, dept_name FROM dept_info()

C. SELECT TABLE dept_id, dept_name FROM dept_info()

D. SELECT dept_id, dept_name FROM TABLE(dept_info()) AS results

Correct Answer: D

QUESTION 3
What is used in conjunction with a foreign key to define a relationship between two tables?
A. Primary key

B. Partitioning key
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C. Check constraint
D. Unique constraint

Correct Answer: A

QUESTION 4

What are two valid objects that can be created in DB2? (Choose two.)
A. Tree

B. Node

C. Trigger

D. Contexts

E. Sequence

Correct Answer: CE

QUESTION 5

Which two activities indicate the need for a data warehouse? (Choose two.)
A. Confirm product inventory.

B. Monitor product availability.

C. Summarize sales by region.

D. Identify patterns for products sold in the last five years.

E. Associate one or more products with a purchase order.

Correct Answer: CD

QUESTION 6

Which DB2 object is used to provide a logical grouping of other database objects?
A. Alias

B. Index

C. Schema

D. Collection

Correct Answer: C
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QUESTION 7

A new user named USER1 needs to retrieve information from a database named MYDB. What authority must be
granted to user USER1?

A. DBCTRL authority
B. SQLADM authority
C. DATAACCESS authority
D. ACCESSCTRL authority

Correct Answer: C

QUESTION 8

Which object can a buffer pool be assigned to?
A. Schema

B. Table space

C. Storage group

D. Stored procedure

Correct Answer: B

QUESTION 9

Which DB2 object can be used to improve the execution performance of qualified SELECT statements?
A. Trigger

B. SQL Procedure

C. Sequence Object

D. Materialized Query Table

Correct Answer: D

QUESTION 10
Which SQL statement will create a DB2 object that can be used to store numerical data as Canadian currency?

A. CREATE DISTINCT ALIAS canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS
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B. CREATE DISTINCT TYPE canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS
C. CREATE DISTINCT PROCEDURE canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS
D. CREATE DISTINCT FUNCTION canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS

Correct Answer: B

QUESTION 11

Which two operations are allowed in the body of an SQL scalar user-defined function? (Choose two.)
A. CALL statements.

B. External file access.

C. Use of a scratch pad.

D. COMMIT statements.

E. SQL control statements.

Correct Answer: AE

QUESTION 12

By default, a column defined as a TIMESTAMP includes which attributes?
A. No fractional digits or time zone.

B. 6 fractional digits and no time zone.

C. 12 fractional digits plus a time zone.

D. 12 fractional digits and no time zone.

Correct Answer: B

QUESTION 13

What is the primary purpose for using the INCLUDE clause with a CREATE UNIQUE INDEX statement?
A. To override the limit on index key columns.

B. To further enforce the uniqueness of index values.

C. To combine two or more indexes to create a single unique index.

D. To improve performance of some queries by allowing index-only access.

Correct Answer: D
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QUESTION 14

A table named EMPLOYEES was created as follows:

CREEATE TABLE employees (
EMP_No VARCHAR(A]  MOT NULL,
emp_name WARCHAR(SO0) MNOT MULL,
pmp_rmal  VARCHARCAN) MOT MUY
Then, the following INZERT statements were executed:

INSERT INTO employvees WALUES ("1A2E8', 'Joe Smith',
loe . smithi@abc.com'y;
INSERT INTO employees WALUES ('1122' 'Lisa Carter', "),
INSERT INTO employees WALUES ("1A28', 'John Dog',
lohn.doe@abc.com'y;
If the following query is executed:

SELECT count(™) FROM employees,

What will be the results?

A.0

D.3

Correct Answer: C

QUESTION 15

Which privilege is required to invoke a user defined function?
A. CALL

B. USAGE

C. EXECUTE

D. REFERENCES

Correct Answer: C
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